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Time: - 2,00 p.m. to 4.00 p.m.
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SARDAR PATEL UNIVERSITY
B.B.A. (ITM) (4 Years) EXAMINATION
SEMESTER — I (NC)

Saturday, 18t March 2017
UMO1CBBI0O7: BUSINESS MATHEMATICS

Define following terms with example:

1. Intersection of two sets

2. Subset
State and Verify De "Morgan laws for two sefs A and B by taking
U={ab,c,d,e,f,g,h,i},A={ab,cef},B={edf g}

Express the inequality in a Modulus form: —2 <x < 9

OR
LetA={x/ ~1<x<6,xeZ},B={24,5} and C= {1} then
(1) Compute : BxC
(2) Verify that 4U(BNC) =(4UB)N(4UC).
If A =setof the letters of the word *“WHAT’, B = set of the letters of the word

‘HEA'T? and C = set of the letters of the word ‘EATA”’.
Then find B X {A —B)and € x C.

Express in the form of an interval: |x — 3| < 5

Explain following terms with example:
1. Transpose matrix
2. Symmetric matrix

4 -1 -2 5 2 4
IfA=}-1 3}|,B= [ 3 —1] and € = [—1 —5] ,
2 0 5 2 : 3 -2
Thenfind 1.4 + C 22 A+B4+C 324-3B + C

Solve the following equations by using Cramer’s rule:
2x +y =4, 5x+3y=9

OR
Solve the following equations by Inverse of matrix:
2x + 3y =10, x + 6y =4

5 4

1fA=[3 2] Then find A% - 34 + 141

@
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Q3
@

(b)

©)

Q3

(a)
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Q4
(a)
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1 1 3 1 1 2
fA=|2 3 1landB={2 4 1}, thenfind AB and BA.
3 1 2 1 2 2

Show that the equation of a line having slope m and ¥~ intercept ¢ isy = mx + ¢.

Find the equation of a line passing through the point (—1,4) and making equal
intercepts on the co-ordinate axes.

Find a, if the distance between (a, —4) and (-8, 2) is 10.

| OR
Find the equation of a line which is Parallel to the line 2x —3y — 5 = O and
passing through the point (4, 5).

Find the equatlon of a line whose siope is 3 and which passes through the
intersection of the lines x-4y + 18 =0and x +y —12 = 0.

Given A(2,4),B(6,8) and C(a + 4,2a + 6) and AC L AB,Find a.

State working rules for limit.

Evaluate following:
1. lim=
x-23 Xx—3
2. lim Alx+ 2 - '\/——
x> 1 xr —1 -
3. fim (\n?+n+l-/nt+1)

OR
Evaluate following:
x3-3x%+3x—-2

1. lim
x-2 x—2
2 lim 23
x—+0 x
3 —
3. lim >—%
x-32 x.,.z
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